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Worksheet No.5. Circle the letter of your correct answer.

1. Whatis (BO+-5)+ (4 x 1)?

a) 59 b)-59 c) 49 d) -49
2. Solve 1000 + (-50 x - 50).
a) 2500 b)-2500 c) 3500 d) -3500

3. If the femperature at 7:00 am was 1 ° C and the noontime temperature is
10 ° €. What is the change in temperature?
a) -11°C b.)10 °C c.) 9°C d)o
4. What is the opposite of O in the number line?
a)l b)-1 c) none d) lack of information

5. Which expression below is equal to zero?

a.) (-10000) + (-100 x 100) b. (-10000) + (100 x -100)
c.) (-10000) + (100 x 100) d.) (-10000) - (100 x 100)

6. Which of the following correctly answers the expression (12 x -120) + 1439.
a.)-101 b.) 2779 c.-1 d.o

7. Which of the following are ordered from GREATEST to LEAST?
a)-8,0,-1,4,7
b.)-10,2,0,4,1

c.)-4,-7,-8,-9,-10

d.) 10, 4,0, -4,10
8. Which of the following statements is correct about -5 and 1

a)5=1 b)-5>1 c.)-b <-1 d)>5=-(-2)-2
CHALLENGE PROBLEM
Which situation does the integer 5 best describe?

a.) A car moves 2 km north and 3 km south

b.) An elevation travels tree floors up and then eight floors down

c.) A company adds 5 new customers to its list

d.) You move a game piece 5 spaces forward and then 5 spaces backwards
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Answer Key:
Worksheet No.5

1. C 2.C 3.C 4.¢C 5. 6.C 7.C 8.C 9.C
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